PRINT AT A2 PAPER SIZE

DRAWING 2 - AS EXISTING
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emergency electrical

cut off

vent cover

1.26m high

floor level switch unit
240V AIC

3 x63 amp

1x 125 amp

vent cover

1.26m high

exterior

sliding
door

8.08m to underside

of walkway

g4— — +— — — — house lights switch
4— — +— — — — grid lighting switch
¢— — +— — — — fire alarm point

— —————— high level clock

| ¢4— — +— —— —— — controls to sound doors

floor level switch unit

240V AIC
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BAC outlets — ——
400 amp. per phase.

main electrical switch panel

emergency
electrical

fire

2 x 13 amp extinguisher

2x13 amp

3 x63 amp

1x5amp

1x 125 amp

Stage 3

cut off

1xC02

sockets
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